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Feb 2g, 1994 Feb 28, 1914

1. Evaluate PO |

where R is the region |z| < 1,0<y < 1.
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2. Evaluate [[g(z® — 5y + 4)dz dy where R is the unit disk centered at 0.
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3. Express .
[ [ fewdyds
as an iterated integral in the opposite order.
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4. Find the volume of the region inside the cylinder y* + 2> = 9 and between the
yz-plane and the plane z + y — 2z = 32.
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5. Find the volume of the region lying over the cardioid » = 1 + cos 8 and under the
graph of z = r.
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6. Find the area of the surface z = 24 z? lying over the triangle 0 <y < z,0< z < 1.
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7. Find the centroid of the tetrahedron given by the inequalities
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8. Let a and b be positive numbers and consider the region R given by
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(So R is the left half of an ellipse.) Find the centroid of R in terms of a and b.
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